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BXLHGRIAVHILTAY

MHBESHEHEE=NRHERELEBE+QB S =/ \—HY )L —ERRAEE+Q)EHE N AL

+@RENHEEIBEE = PiA 5.84|M/kWh
(1) PR & A 2 B il = (SE 1R $HEAE —0M) x E#EE 1,000 = 0.00]F1/kWh
202552 F ~20255%4 A FH D & 5 #sHlE
A: KB T=Y OFEHERMEE 75,324 [ a: 0.0000 FLAE B 0.000 M
B: 1t®H1=YDFEHLNGEIE 91,452 { 0.0000
C: 1tHT=YDFEHHRIMIE 19,887 M Y 0.0000
EHBEMEE = Axa +BXxB8 +Vxy =0H (100MEKEMIERAN)
Q) BEL-/N\—Y LY —ERFEE M= (B SR EHEE —0M) x E#EB{H 1,000 = 0.00]F/kWh
202552 F ~20255%4 A FH D & 5 #fsHmE
A: 1KIHT=Y OFEHERMEE 75,324 [ a: 0.0000 FLAEH 0.000 M
B: 1t®H1=YDFEHLNGHIE 91,452 { 0.0000
C: 1tHT=YDFEHH R 19,887 M Y 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIER A)
Q) NEANAEEMm=A<BOEE. ENFAEBEM=(A—B)xDx(1+HEHRE) = 0.00]F/kWh
A>COIGE . EARAZEM=(A—C)XDx(1+HEHRE) = 5.84|MH/kWh
A: BIADTTITSARFHE(1-18KEH) X HER 15.31 BMADIV7ZTSAREYIE 12.96
B: EuIAEEAEEM (Fitk) 6.00 BHkE 6.9%
C: EBNNFAEAEEEE (k) 10.00 SRR 110%
D: BEEE 100%
4) REHEAIREE 0.00|F9/kWh
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REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIBEE = FiiA 4.48|M/kWh
(1) PR & A 2 B il = (SE 1R $HEAE —0M) x E#EE 1,000 = 0.00]F1/kWh
202552 F ~20255%4 A FH D & 5 #sHlE
A: KB T=Y OFEHERMEE 75,324 [ a: 0.0000 FLAE B 0.000 M
B: 1tdh71=Y D FEHLNGEE 91,452 M B : 0.0000
C: 1tHT=YDFEHHRIMIE 19,887 M Y 0.0000
EHBEMEE = Axa +BXxB8 +Vxy =0H (100MEKEMIERAN)
Q) BEL-/N\—Y LY —ERFEE M= (B SR EHEE —0M) x E#EB{H 1,000 = 0.00]F/kWh
202552 F ~20255%4 A FH D & 5 #fsHmE
A: 1KIHT=Y OFEHERMEE 75,324 [ a: 0.0000 FLAEH 0.000 M
B: 1tdh71=Y D FEHLNGEE 91,452 | B : 0.0000
C: 1tHT=YDFEHH R 19,887 M Y 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIER A)
Q) NEANAEEMm=A<BOEE. ENFAEBEM=(A—B)xDx(1+HEHRE) = 0.00]F/kWh
A>COIGE . HENHAREM=(A—C)xDx(1+HE&EHE) = 4.48]M/kWh
A: BIADTTITSARFHE(1-18KEH) X HER 13.07 BMADIV7ZTSAREYIE 11.04
B: EuIAEEAEEM (Fitk) 5.00 BHkE 7.1%
C: EBNNFAEAEEEE (k) 9.00 SRR 110%
D: BEEE 100%
4) REHEAIREE 0.00|F9/kWh
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EEENTU7ERE]

DOTNTSODEESE
20255 TH% BMEESHREBEM@EOSMLE

THEIGHHN DO BREBY . EHALALEFET,

MRXLHGRIAVYIILTAY

BHDBEIHMECEFTNINHEFAREME. TROBYEHSELEY .

MHEFHAEHEB=DRHNEREEM+QBS 1=/ \—Y LY —ERRE (M +Q)HE H AL M

+NBFENHEHBE= =P D15kWhET A 86.55 M
LELMN A 5.77 M /kWh
(1) PR B R Bl = (Y FMEE —0M) x BBl +~1,000 = RN 15kWhET 0.00|H
202552 ~20255%F4 A FH 0O E Z#fEHEE Lz LIS 0.00|F4/kWh
A: 1KkIBHF=YDFHFE RS 75,324 M a: 0.0000
B: 1t&H =YD IFEHLNGIHEE 91,452 M B 0.0000 ~ 15kWhEL#E B {f 0.000 [
C: 1tHE=YDEHR RIS 19,887 M y: 0.0000 16kWh ~ EL £ B {iff 0.000 M
TEHEER = Axa +BXxB +Vxy =0H (100 kHmEERA)
(2) BB A= /N—H )L Y —E XA E = (3 & TR EHEE —0F) x EAEH {1,000 = 0.00|F9/kWh
202542 A ~2025F4 A D E Z#eHEE
A kB T=Y D TR mmEE 75,324 M a: 0.0000 HAE B 0.000 [
B: 1tHh-YDFHLNGEE 91,452 M 0.0000
C: 1thi-YDEHFR KM 19,887 M Y 0.0000
HMETYRE@EKR=AXa +BXxB8 +VXy=0H (100MXEEZEREA)
Q) HENFEHEM=A<BOGE. HEHFAZEH=(A—B)XxDx(1+HEHRE) = 0.00|F9/kWh
ASCOIZE . FIEHAREE=(A—C)XDx(1+HEHRR) = 5.77|F/kWh
A: BTADIVTISAREHE-(1-1BKRE) x AR 12.74 BIBDTYFTTSAREH(E 10.68
B: E TifEEE AN (Fiik) 3.50 Bk ER 7.8%
C: BhNFREEEAEEN (k) 7.50 SRR 110%
D: BEIE 100%
4) RElHEE8E%E 0.00| 9 /kWh
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